No3 FEHER

(D) 2x2 =3x+y—-9=0%0i/zTHAE x, y DMl EETRD X,
(2) x+2y+3z=10 7= T HAK x, v,z Ol 2k X,
(3) x2 4+ 2xy +3y? =10 Z i 7= T8 x, y D ZE KD X,

(D) X2 =y + 24 BT HAE X,y O E 2 TERD X,

Q) ¥*+xy—2x—5=0%iz T8 x,y oz ko X,

B) x2+xy—x+y—8=0%iTHARE x, y Dfl% KD X,

4 x>+xy—2y—9=0HAZm 7T EL x,y DT Tk X,
(5) x> +4x —y?+2y—2=0 %= T HRE x, y O %KD X,

() xy—2x—3y+2=0 ZiizIHIE x, y ol E & TRk X,
Q) 3xy—x+y—-7=0%m/zTATEVEL x,y DHZ KD X,

L) VIO -2 R L B L & ZOREE AR R X,
Q) Va2 - 12 L b L &, ZOREE AREx 2R X,
(3) Vx2 +5x D3R L T B L & Z DRI HAK x KD X,

(D) 5x2+2xy+y?—12x+ 4y +11 =0 i 72 T8 x, y Ol 2 TRD X,
(2) x? —2xy —3y?+4x+ 12y — 17 =0 Z iz T8 x, y D% KD X,

(D) x+y+z=xyz BT HRE x,y, z DB ETKRD X,

@) s +o=3 Bl T AR, y, 2 DHlERD &,

it =T AT ARy, 2 DR ERD X,

X 2y 3z

. Q) %+§+§> 1,1<x<y<zki=388x,y, 0%k X,

) §+§+§< 1L,xSySzzi7zdHARKx, y, 20D b, §+§+§@{Eﬁ§%kc:&% b D%k

DX, ¥/, ZDOLEZDOHRKNEZRKD X,



9. () = DHRERD LD rx BRD X,
@) - - DR B L T x BRD & (HALBER)

10. 2 XX x2 —mx+m—4 =0 REIEZ DO X 5 BB m Ko X,

11.() X®*+(a+ Dx?>+3ax+2a =027 % 3 DOREMEZ b 2 X ¥ a DfE% KD X,
Q) x}—px?+1lx—q=023 DD T 2 IEOREEL D, ZDL X, EBp, q DEERD X,
(R AREK)
B) x> +mx?+(m—-2)x—5=0BIEOEEREE b DX 5 BB m OfE%ERKD X,
@D kIZBEETHY, x3—13x+k=02E%2 3 008EEED D, k & ZTNoDEERELY T Tk
» X, (—H&K)

12.(1) 3x — 5y = 1 DK R Ko X,
(2) 49x + 24y = 19 DEHR% Kb X,
(3) 3x + 2y = 10 DEHHE % KD X,

13. (1) X +y3 =91 Zifi 7=+ %% x, y DLz KD X, (BH3AR)
() x3 —y3 =217 Zii7= T8 x, y DM ERD X, G K)
(3) x3 —y3 =117 il 7- T8 x, y Dl Z KD X,

14.(1) x> =2V +1 272 T HRE x,y D Z KD X, (B7RR)
(2) x3=3Y -1 %73 BARE x, y D% KD X,

15. BB m, n 233" -2"=1,m>1,n>1 %ii’zzL T3,
(Hm B TH 5 2 & 2RE,
Q) 3m—=2"=1 %iliz=dT m, n DM ERD X,

16.p %2 2 L IZRE 2H ML T2, m? =n? +p? 27z T HREDOMm , n)03 772 1 fFE S 2 Z & %k
B X G PN

17.p, g, r&2 p<qg<r CHBHEKL T3,
(1) FEXr=q?>-p2 %ili7=3p.q,r DMp, q, nETXTEKD X,
Q) HERr=p2¢? -1 %ii7=3 p,q, r IFEELENI L EZRYE, (FEHK)

18. —+—=; (m=n) Zii7=3HRE m, n DT p 2Rk X,

19. m3+nd =p ZWiTHRE m, n D EHE p 2KkD X,



